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Find an expression for g(f(x)).

Functions f and g are given by f(x) = 2x — 3 and g(x) = x°.

. 1
Find j— dx.
I

What is the distance between A and B?

A and B have coordinates (2, 3, =2) and (-1, —4, 0) respectively.

A sequence is defined by the recurrence relation
Uy = 3u, — 4, uy=-1.

What is the value of u,?

The diagram shows a right-angled triangle
with sides of 1, 242 and 3.

What is the value of sin 2x°?
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a and b are angles as shown in the diagram.

What is the value of sin(a — 5)?

A circle has equation x> + v* + 8x — 6y — 12 =

0.
What is the radius of this circle?
The points P(1, 3, 7), Q(5, 13, 13) and
R(s, 33, 25) are collinear as shown in the
diagram.
What is the value of s?
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